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AP TET cum TRT - 2014
SCHOOL ASSISTANT - MATHS

Answers are circled in Red Colour

Held on 11-5-2015

PART-V(a)
MATHEMATICS

WS-26/TET cum TRT-211-EM/TM

101 A triangle has lengths of sides as

28 cm, 21 cm and 35 cm. Then the
length of the altitude drawn to the
largest side of the triangleis..............

2.5 (S5heisce 28 350.00., 21 Do, Sxbaix
35 ol DEposm Ke goehuos 5OA
OXa58. sonon S (Sgmnnd’ 0l DG

(1) ?:2 cm

16.8cm

(2) 13.4cm

(4) 14.2cm

102. A hollow sphere of internal and

external diame<ters 4 cm and 8 cm
respectively is melted into a cone of
base diameter 8 cm. Then the height
of theconeis...........

LOBY, LY TFFESCT L 30, B 0.
e SOAS oo Ronadks A00ed 8 bo.d-.

 ————

7 PSS g TRy Bt TS S
T O
) 12 cin (2) 10cm

103. A cuhoid metal of dimensions

44'cm % 30 cm X 15 cm was melted
and cast into a cylinder of height
28 cm. Then the radiusis............

(1) 10 cm
(3) 12cem

| 104.

44 e.bo. x 30 Do.bo. x- 15 Feoian,
ot o 0 20000 28 he.tb.
B3 SOAD HBIBST- SRS S BED

(3) 12 el (4) 14 .20
P43 2<x5

If f{x)=42x~1 1<x52 then the

: | 3x  Osxsd

rangeof fis..................
x+3 2<x<b

f(x)={2x-1 1<x<2 Lous £ Bk,
- 3x 0O=sx<x1

T e —

(1) 95f(x)<6

2 0sf(x)s7

ﬂﬂf{x}s 8

(4) 0=/f(x)<9

Ws5. fAAB = AUB then.............

120]

(3) AAB-=¢

(4) AAB=A-B
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106. A and B are two sets having 3and 4 | 109. It is found that out of 100 students,
elements respectively and having 2 I
elements in common. The number
of relations which can be defined car, while 15 can drive both these
fromAtoBis............

A 300aci B Blotoe nﬁanﬁ::m:m-:il
=00t 4 Sarolicces SoP. A SSaiu B

25 can drive neither a scooter nor a

and 52 of them can drive a scooter.

How many can drive a ear?

oty SR cibati 2 dlind taresives” 100 5508 Jregpes® 25)oes sl
SoD. saisS A mood B 3 o sernaisane To0) SRS S SHEES Bk, 1 5 Shol SrEkas
B o i Sododd BELS Nog. w06° 52 Buod
(1) 2¢ (2) 2 | 507, 430000 DESIERS, Sy BHESIDO T
21'.. {4} 2& l

102 Sets A and Bhave 3 and 6 elements
each. What can be minimum 1) ¥ @38

number of elements in AU B? (3) 41 (4) 25

$S0%cen A Bicin B el unaum 3 oodais
6 Saroro ¥oo). wowss AUB &

110. Solution of equations /2x +Jéy=0

an&mm S and /3x —J/8y=01i5.-ccccerure
) 3 6 1
.39 (4) 18 J2x+3y=0 280 /3x—/8y=0
108. f:R - R isdefined as . &5 TP SDoBesSe Gk, NS ...
(1) x=0,y=2

= -1 52
flx)=¢x*-1 -2<5x<2 then
| x+4 x<—2 ‘

Ef(-])+—f(2) |
F(4)-1(-8) B 75

2D oz | @s=oy=0

fR— R {:r}--«l:rz—l -285x52

rf =2 111. The point which belongs to the

(2) x=2,vy=0

(3) x=2,y=2

region x-y+1<01s..............
T el Rl s j'J-:'H—l'l*f(2)=
5 f(1)-7(-3) x 3+ 1< 0 SO 2olis Dol ...

(1) (0,0) b0 (2) (1,0)

- 1

(1) > @ 2 £3) (0,1)o<cD -1- 1)
3 5 | *

@) - @ - |
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112. Point (1, 3) lies in the region |
represented by ............

(1, 3) BeEoy Voo HSTEFA worreasasans
(D) x+y<2
(2) x+y>5

@Ex'*-y*-':ﬁ ‘

(4) x+2y>9

113. For every point on an isoprofit line
in a feasible region, the value of

objective function.

(1) increases - ‘
(2) derreases
@rem&ins the same

(4) does not remains the same

eoire (Sotund’ vy S @&l
Doty % oYy BRdyd Desd.

(b SSertss

@ e o |

(4) SRR Gaollo

114. If A. B, C are three matrices and if
A A8 =€, then the value of

yLog ;xx3Log ,, 2 is

lllllllllll

A, B, Tog vt Som@Ses
A B,
& 32
y Log
@s
(3) 5

=C,. . &S

3,
x+3Log,,z <%

(2) 2

raj»

iiiiiiiii

(4) 10 |
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115. In the following matrices symmetric

MAtrIRIn ..ccciiinin
3oB nrBses® s SO e
" Sin0®  Cos0°
(1) | Tan30" Sec30°
' Sin0°  Secl135.
2) | Sec45®  Cot 90"
| Cos30° .CEH-I 35
@ | -Sin 135" Sin 60"

(4)

Sin30°) Tand5’
Cot133° Cos60°

1160 If det (4) = 4 then the value of det
(12 A) where Aisoforder 2 x 21is .....

A e5on5d 2 X 2 oD SIS Soiaiv A
DYy, ATTED 4 wonT 12 A

:ﬂ}m Py P
(1) 144 @) 12
@ 576 (4) 4

117. If A 1s a nonsingular square matrix

such that A*-6A+77/=0 then A
7 (A

A el elolr S&UL wOE Lolak

A*=BA+TI=0 a3 A" e

61 - A
(1) 61 -A @ :
6
3) 61+A (4) I;"“
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118. Let ¢ denote r* term of an A.P. If

1 1
t, =— and {,=— thent
n m i

/!
¥ woNRGS ronthot . £ =— oS0t

f=— eoasS L, = i
m

(1) 0 @1
1 -

©) San @ h

119) Ifinan A.P., t, =Log,,a, t, ,=Log, b

and 1 =LOg . then a, b, ¢ are

..

AP. & t=Log,a,t _ =Log,b
Sooaiw b, =Log, ¢ waxsh a, b, ¢ oo |
&0 RS cerrmenennaeans M
(1) AP @ (z.P.

(3) H.P (4) A.Pand H(P!

120. If n!, 3 x n! and (n + 1)} arein G.P.

then n!, 5 xn'and (a4 Hlrarein....

n!, 3% n!&s8a¥o(n + 1) e G.P. & &
n!, 5 X n! Sodamaln+ 1)! oo dco g ...

@) G.P.

(4) G.Pand H.I.

(1) A.P,

(3) H.E.

WS-26/TET cum TRT-211-EM/TM
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R 8

121. If in a ggdmetnc series of positive
terms the difference between the
fifth and fourth terms is 576 and
difference between the second and
first terms is 9, then the sumi of the
first five terms of the sertes 1s
555 opsts Sistase SOAY ¥ 100RG 6
535, 49 355000 Btssca 576 wodcin 2.5,
A0S SSsoe B5E9 esancd Dok 5

50555000 DGR wrsesasasses
(1) 1061 (2) 1024
@1023 (4) 768

122. If m™ term of an A.P. is equal to the
n't term, then ..........

oY wo¥@de® m 5 B&5», n B Bond

lllllllllllllll

(1) (im+n)=0

@(m—n)=0 )

(3) (m+n-+1)=0

(4) (m-n+1)=0

123. Sum of the ‘n' terms of the series

V2+8+ 18 +V32+ conee. 1S .......
\'@+J§+ﬁ+\@+ ....... @’;‘d‘im
'n’ STPORASEA ...........

nin+1)
(1) B (2) 2n(n+1)

4 1
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maximum
Cosx+ Sinxis............. .

Cos x + Sin x Gy, ?".E:g:‘.:ﬂ.:h ‘

(1) 1

3 3

@) V2

(4) 2

125. If Tang = %.(n:ﬂ) then

aCos@+bSing _
aCos8-bSiné

Tan@ = E,(a#ﬂ) SO

a
aCusﬂ+bSiné'=
alos®=bSind ==
a+b a-b
(1) N (2) ek
n-g +b‘2 4 ﬂz, _b
a’-b° @ T

126, Cos12" +Cos84" + Cos132"

4 C08YBB" = ..ciasune

1 1
(1) 1 5
2 i) ]
(3) P (4) >

WS-26/TET cum TRT-211-EM/TM

value

----------------

of

4 e 3
A T -1 '=C _-1[__] S l[ ]
127 an Xx 0S8 = +Ootn —-—m
EHER = icniiniiiiinas |
. 4 .
lx=Cos | — |+ Sin [ J
Tgn x=Cos sz _T.Stl
r;'im:f"ﬁx= '
23 o 25
e (2) T
' 27 29
@'11- @ 3
128 [E“. AABC ""J:,'ni't-"i—é Ti”t:n':t-‘?-=E
G (7 7 et St W e
2y o
AABC [Stozs &
A b c 2
— T MNe= ==— . PR -
tons e
@2b:ﬂ+c
(?) b=a+c

(4) b=3(a+c)

[24]
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129. From three collinear points A, B, C

on a level ground which are on the

same side of a tower, the angles of

elevation of the top of the tower are

30°, 45° and 60" respectively. If

BC = 60 meters, then ADB in
MELers = .....co..

oD PSS Lercs Dotspes A, B

weloias € o ool o 10T

o 30°, 459 Ssbatss 60°

& B BC =60 B,

AH u}u‘.:ﬁéi =

(1) 8043 (2) 453
@ 303 (4) 1543

130. The mid-points of sides of the

triangle ABC are D (6, 1), E (3, 5
and F (-1, =2), then the vertex
oppositeto Dis .............

ABC 1@geeiend’ foetns Bondoti g
st D6, 1), (3,5 =08
I (-1, -2) oo woed I 3 W0 &5

(2) (~4;5)

(3) (2,5 () A10;8)

131. The vertices{of a triangle are

A (6, 6). B (.. \and C /6. 0). The
distance betiveen its circu oerter
and centroiegdis ..............

SRR A (6, 8), B (0, 6) welas
C (6,0) suoss & (Gibw 30 Joid,
Hotoly Boicmd Ne el SN
(1) 22 (2) 2

(3) 1 ) 2

---------

132,

133.

b 134.

125)

When the origin is shifted to a
suitable point, the coordinates of
(-2, 4) are transformed to (-6, 9). The
origin was shifted to ............

e Dedigie 07 Detiong Sk BOLSS
aase (=2, 1) Deson (=86,.9)
SeloTT Sy 8OARN. woxsE) Bodte

=T

(2) (4,5)
(4) (-4, -5) -

_5)
{3} {_41 5}

The foot of the perpendicular from
the point (3, 4) on the line
Ix—-4y+5=01s...

3z — 4y +5 = 0 o 35e D (3. 4)
Dolisy 008 Ko o Y DS weeen

)iz %) @&

25 2¢&
46 54 -81 92)
3 (25°25) @725 25)

The equation
—3xy+A Y +3x-by+2=0
(where ;7 15 a real number)

represents a pair of lines. [f'9" 1s the
them, then

angle between

Cosec . | ek .
-dy+2=0

mﬁ ﬂ..nc..::;;r) e
=

ReoStrrand .S b -.-a,d.'i.: ROty 115 P

x'-Bxy+ Ay +3x

(,a CiEnd LI D

o m#ﬁu L;wl-%:-m ‘O s

Cosec™ 0= .
@ 10

(4 9

(1) 100
(3) 3
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135. Let AB be a chord of a circle (i11) Father of computers 1s Charles

x* +y* =r" subtending a right angle Babbage.

at the center, then the locus of the (iv)The pictorial representation
centroid of the triangle PAB as PI describing the methnq of solving

. . a problem is an algorithm.

moves on thecircleis..........

(1) a parabola (1) @), (i) @) G, Gid)

(2) a circle (3) (i), (iv) (4) (1), (iv)

@a“ ellipse T2 308 TRE" 55 OO cersersnes

(4, a pair of straight line

(i) 1 MB=1000KB
AB wdo & xP vy =r® o ety

Toeso0 % &8 vonSirmnn Sckauigs. P (if) dogrEreaies 336t Sayiss’
e Dot s D Kiven 1y (BE0END B
PAB @, Hotds Solisn G, Dot (1) S5l Dot TR e
T Al S iR
(1) =% Sovseciss 5 :
(&) ER g ini— R
(@)= Apzposs (1) (), (i) @ i
(4) w8z (3) (i), (iv) (4) (1), (v)
136. The box in which the command if | 138 [n a 100 m race when A completes

A > B can be written in a flow the race, B completed 81% of the
race. When B completes C was 20%

chartis............ of the race behind. The percentage
A > B o espio 55 LotonX S Jihs of race covered by C when A
&R B completes the race is ..........
(1) Ellipse (2) Triangle 5100 f:a:.-.:-;.:.- W0 SooaeEt A e
Rectangle. (4) ‘Rhombus SrSsass Wt Baki a3 B 81% 70
DB, B Do B es SRt 90
137. The statements that aretrue: ......... Sasonindd C 20% Doesnd sstso.
()1 MB = 1000 KB saoS A o Srtess 70 Salesiykld
(1) Electronic circuits were used in
P i (1) 60.5 @) 66.2
third generation computers.
(3) 64.8 (1) 69.6

WS-26/TET cum TRT-211-EM/TM [26]


prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

prathiba
Oval

PRATHIBA
Oval


www.eenadupratibha.net

1 2
139. [fg th xis y, 31'1:1 of yis z then the |

percentageofzin xis..........

1 2
16‘-5- Soowy, y & 7 DPoW zeaNdX
&' Z DR <peeeerrerens

(1) 15 @) zs%

1 1
14 — -
o1 @)

140. A = set of zeroes of polynomial®

x*-3x+nx., B = set of zeros of

polnomial 2x: -5x+2 and
ANB=1{2' then the valueof k1s ....

A= .t't—SJ:-i-Jj:wF.ﬂ:u LTV IO
B8 B = 2 -5x+2 @50 pusedd
TP S8 Soddin AN B={2} woxd

R SO0 ceeeiereers

(1) 4 (2) 3

(@2 (4) 5

141. IfA=1{0, 2, -5}, B="{x, ¥, 2} and
= number o bijective functions
fromAto B
A = number of constant functions
fromAto B
Then the quadratic equation whose

rootsare @ and f£ is...........

142,

143.

WS-26/TET cum TRT-211-EM/TM [27]

A=1{0,2.-5}.B={x,y,z} Caix a =
A 003 B3 fio Byte Shaaire e,
f = Aiel B2 o 3 Shecize opgo
SPIode @, f e SFores ™ e S0
SDANHERS icousisaeiin

(1) x*-6x+9=0

(@) x*-9x+18=0

(3) x*+18x-9=0

4) x?-12x+27=0

If Log;, =a, Log,=b then the value

of Loglix.............
Log),=u, Log], =b s Log{ % ...

. B
(1) E+§ (2) a+ b

ab a+b
® 5 O

Six boys and six girls sit in a row
randomly. The probability th~* Loys
and girls sit alternanvely is..........

6 ol wreclo 0L 6 TR AW
TIPS ST &Y Wt Xo-Taydesitio

reals Lol rUSes L0 205, L5

)

Lo STRE LT o -
1 D
M 23 ! 62

1 7
@E}E - @0

Turn Over
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144. Let A and B be the two events such l

that P(A) = 0.3 and P{.4 LU B)=0.8.
If A and B are independent cvents

'then P18 i

A s08ai: BevTotoownas P(A)=0.3
Se8ain P(AUB)=0.8 38ain A
2000 B a0 Sl Sonnes eaas
P(B)=.covenese

~1| v

3 -
(115 (27

@ oS

the probabiuty of gotting all heads |

1S vueerennanns

SES s 4 e B/ AL
A= TRESIDR TEes SRISCNS ... I

1 i il
(1) 2 (2) 5

@ Wi |

28]

146. The intersecting point of both ogives

of a data 1s at a distance of 10 em
from Y-axis and 5 cm from X-axis.

Then the median is.......... s

e Sorovionsts ADS LE5 e potss
Doy Y-uz3d 10 Ne.do drtn S
X-2pR3 5 1000 Bnbes o Soli esassd

(1) 5 (2¥17.5

@

(4) 12.5

147. A man is known to speak theo truth

3 out of 4 times. He throws a die and
reports that it is a six. The

probability that it 1s actually a six

18 s ruernnemans

2.2 5000 @0 BT @38 4 2’ 3 S
PO W DPED. e kX 0% 800U
s 6 &0 Dy, wl sudanr 6 063.:5

DOEFDD eurrnsansess

3 5
(1) 3 (20

@ w!
4 (4)

|-

-—
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148 O 1s the center of two concentric

149

WS-26/TET cum TRT-211-EM/TM

circles. The sum of the
radil = 33 em. AD is as chord of the
bigger circle intersecting the smaller
circle at Band C. IfAD =32 c¢cm and

BC=10c¢m, then the distance of the
chord ADfrom Ois.............

'O 0S8 Toth DY Toil Hbsae HY
Soiies. Toths R © wETRme Tl
= 33 2e.do. 1S PHBHLHE Adbudd
@y AD. AD 0% ooy B, C o 85
Folotn oind. AD = 32 So.do. Solakas
BC =10 »o.iu. oy Oced AD 3 e

(1) 24 cm @10em
(3) 12¢m (4) 15 cin

ABC is a triangle in which |A= 60¢
and B =489, A circle Intersects thie
sidesof AABC atD E, F,(G,/Hand
K such that DE = FG = HK. If'0' is

the center of the virele then

lBOC = erensaesnns

ARC Sfsemandt A= 60° solakes
B = a8, 'O\Zofaom re ¥ S
gty EF, G, Ha8de Ko
L5 Potei 3N, DE = FG = HK

@ 1200 2) 135°

(4) 90°

150, In a triangle ABC, AB and AC are

15

[2

9}

@

151. In a trapdzium ABCD diagonals

m, n respectively. Then the length
of the median AD when BD = AD

15 .

D ABC &° AB 58855 AC o
SES m, n e BD = Al sassd 5%y

(1) mXn

2

m? +n? m®—-n

&

(4)

intersect at £, Then (CE) x (DE)
equUalsto............

ABOD ssseon Stotinmsnd® sthuwes
et E 585 zodolts STHoR0. a0l
(CE) x (DE} =

(1) BE x BC BEHAE

)

-

(3 K X AE (4) CEx CD

In a quadrilateral ABCD, the

bisectors of |A and B intersect at
P.Theangleat Pin AAPB 18 .............

ABCD voowsnxs® A, B
aclrpalastoes P sedotic S W,

>

cans S AAPB 5‘!’:@?&&: ...... &
C C€+|D
mlc+n (@) &3
3) lA+|D (4) A+D
2

Turn Over
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153. ABCD is a parallelogram. AB is
produced to X so that BX = AB and
AD1is produced to Y so that
DY = AD. If XY joined, then the
area of AABD and AAXY are in

theratioof.............

ABCD Siarcob wastame et BX=AB
eclogen AB 3 X 5%, DY = AD
Balogoen AD 2 Y 50 Sdhod wora.
X, Y Seodh 0d:8. voxnd A ABD

190010 AAXY TGO 3RO cerrennen.
@1:3 (2) 3:1
(3) 1:4 (4) 2:2

154. A wall 15.5 m long, 4.5 m high and

27 e¢m thick 1s made of bricks

measuring 27¢m X 10 cm X100 u::m'.'.

Then the number of bricks used

(-

5.5 Jo. &P, 4.5 WISy S0

BS

7 e.Do, Bor55ne by Aan
27 Be.2o. X 1020, x 10 ek,
.

[ " % e L - —r -
SPc& oo Ao\ p8ed ool LT B

- el g L -
mh ‘:‘i.-m:gﬂ-' YIS

6975

(4) 1467

(1) 8612

(3). 7645

WS-26/TET cum TRT-211-EM/TM

155. A hollow metal cylinder having
external radius 8 cm and height
10 cm has a total surface area of
338 rcm?®. Then the thickn"e_s_s of the

hollow metallic cylinder 1s

£¥ S5y Moo BRHIEcY R, T

ppg@ 8 To.xs. Woloin Tl S 10
Bomb. TR SRl Do DFogio 3387

B.20.00. 0o B ile BEnes G,

e L L IR -
@3 cm {(2) 4em
| (4) 1.5cm

156..In a circle C (0, r) AB, CD chords
intersects at E. If Pis the Iength of
UAE, 2P is the length of BE and
(CE) x (DE) is 128, then the length

of AB1S .....ccvvvnvnree

¥ s C (0, )8 AB, CDwe E
S5 podoe ST wnw. AES>EH P, BE
ey 2P 5000 (CE) x (DE) e 128
PR o p— :

@24

(4) 16

(1) 18

(3) 32

30}
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METHODOLOGY

157. The three aspects of Dale's cone of
experience are among the following.
(1) Inactive, iconic and centered

@lnactive. iconic and abstract
(3) Inactive, iconic and concrete

(4) Inactive, iconic and symbolic

a8, sops wsogrsnod’ T Fod War
DS 5.

(1) Dprree,  JEPds  SSoks
noian
@EE tﬂd,ﬂlﬁiﬁ %:'QJ.‘:JJEE:H :E:--E:ET;:

(3) PEresno, DISTHas Bedaixe S8
(4) Ao, polly el UL eVt

P

. Th2 behavioral outcome i1dentified
when the student shows the area of

the polygon by shading the regiﬁn '

will be .......
(1) reascning proof

(2) connection

@repmsen tation and
visuahization

(4) problem solving

wincged (SOKE) s, e

PR EBL DADeU & &Y Dored
GIcl), U2 (00T STl oS Fotel
SRy deesieay
| -‘ﬁﬁrﬂ‘&;“ Rl
(2)Scworn
@m SO TeETY
(4) S Proesas
WS-26/TET cum TRT-211-EM/TM

[

160.

131]

159. The learning outcome which

focusses on the academic standard

'‘communication’ among the

following s ........... \

@the pupil makes [logical
arguments &

(2) the pupil explains mathemaucal
ideas in words

(3) justifies adnqu‘a{:‘y:ﬂf the data

(4) chooses thé hcst. hypothesis

‘.‘ﬁﬁn&‘ﬁahﬁm esognnd’ T 300

i (3) 5OSEAS DiSeisRanT STl
(4) &S5BS AFraess DG s

One of the following is the least
important competency to teach
Geometry.

(1) Kinesthetic ability

(2) intuitive sense

(3) manipulative =kills

(4) note making

DN GHowRE’ wd BiS Py

-"'-.-P'-.ID\-.-:..- L-':J'n'..'-i_..-. (=2 .-5-:! "-?.4455

@3 ?‘;z..a": L0

(2) woll ToNH

(3) EXass Sobsie
(4 Delste
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161. One of the following would be the
best assessment technique to reduce
stress.

@ Open-book exam

(2) Content test

(3) Time-based test

(4y Achievement test

5840 BActows® b (302 IS
am..m

OF

(2) 0o 85
(3) >es8DG 58K

(4) S5 50y

162. The least valid point an essay

&3

question in a Mathematics testis ....
(1) content
(2) reasoning
spellings
(4) logic

TS G 5 Kedo i’ ol B S
TS i el TRl
(1) Cepisn

(2) St

lllllllllll

163. The major aspect which is de-
cmphasizéed 1 continuous and

comprehensive evaluation (CCE)

(1) content

@ quality

(3) memorization
(4) coscholastic domain

WS-26/TET cum TRT-211-EM/TM

SR Soltrrrts Sureresivas (CCE)

164. One of the following is NOT
a component under stimulus—
variation skill.

(1) Refocussing

(2) Gestures:®

(3) Prais¢ words

Pleasant expressions
54 (300036" 183 (88l - DOALED)
(B8 5y Frsoes Aoy, wCBRITES
(1) PR0Tees
(2) Sges
(3) drses

@ ST

165. The best suitable action for a teacher

to silence a disturbed classiis ........
(1) seonlding

@ pausing
(3) puuishing
(4) listeming

o~k

Y DSl ol HUNO oN -‘ﬁtLu.— s

t..i‘;‘ﬁw..:ﬂ.. esmbon) G =2 &Eﬁﬁ.nﬁﬁ
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166. Ruleg is a component of one of the Tl B B S YR RN T LT
following methods. OO G 3 SHIeT O el eint e
@ Inductive bitaca) #ﬁﬂrﬁm‘ﬁ: Eb%::.uﬁ .........
(1) el @) &S

(2) Analysis

(3) Synthesis
(4) Deductive 169. Father of Statistics 1n India 1s one

among the following.

uEh 168 ThIEE D Do
Nins 308 - - (1) Arvabhatta

Y eodans?
@ e (2) Ramanujan
(2) s (3) Mahalanobis
(3) S=°Ces (4) Bhaskara
Al BoQ TS’ JI0D rodaks ot T
167. A phase named Zone of Proximal DTRTIES 837 esouPto?
Development (ZPD) is a part of the (1) =Cgiesd (2) oTurey
strategyof............ @M (4) 23T
(1) reciprocal teaching 170. Cerelation of the mathematical
(2) concept attainment model | principles given below is reflected in
@Eﬂﬂﬁtruﬂiﬁsm I the construction of the monumei.t,
(4) recreational method Taj Mahal.
i~ ) $HBE0R (Zune of Proximal @HE““W* symmetry  and
Development (ZPD))EZE-&ELE. 38 cangruency
SIS D) DS SOIOB I teeennes (2) Beauty, congruency and
(1) LSl balance
@ o '."‘.C‘JE;Q@ (3) Order, similarity and segquence
B i (4) Beauty, line symmetry and
(4) B S50
. congruency

168. Name ol themathematician wno _ o " SN o)
T 200 SOl O NG B SUNieo

said, "Let no one enter my class who . Fa " e
el ’ :F;E*;:;ﬁgt.marﬁ.ﬁm:bnu:ﬁ-'-“n:ﬂ:r i,

is ignorsnt of Geometry™ s ... @ o, A HaOCs S
(1) Archimedes (2) eoto; SurSartas BBk OB
@) Plato (3) 35k, SIS KEoBolin it St

(4) wols; Endvysoos O

(3) Pythagoras

ST SN
(4) Diophantus SRR LT
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PART-V (b)
PHYSICAL SCIENCE
;i'l. Th:a characteri;iu feature nf; 173. Thet:u_chemicals_ubatanccs WIE
substance to become a permanent are used in the experiment for law
magnetis........... of multiple proportions.
(1) high conductivity l @Cupruua Oxide and Cupric
@ high Retentivity Oxide :
(3) high Resistivity (2) Silver Chloride and Barium
(4) high temperature Sulphate
TS S, 00D, BALEIICND SToe (3) Sulphur and Sodium
KOOLEOS (SBY G ernee (4) Sodium Chloride and Cupric
(1) eo¥rss Qustele
(2)) woxomosad | s Suncnss sarmws’
(3 23382 ERAAPNOTD BIAUS STPoD.
(4) 55 &40 @@iﬁ%ﬁmw@ﬁ%ﬁ

(2) exb 828 So0aix Boae 585
(3) $enb bt Hlae |

172, Human ear can hear two sounds

separately if the minimum time

interval(T) between the.two sourids () Fdatio $8E Bl EhS 35
| T 174. Ammonia reacts with excess of
SIS DD Dot B Sewens IAT& chlorine to form an explosive
am%mg%gﬁ;g WW(T} compound 'X'. The compound 'X
1 1S oerveinns
T <— seconds
@ 30 SRTHCIT R $ORTrod’ Ko 5705 &
2 T {El- seconds ol ' X esd Deatss SRt et
> P, G- Yoo J—
¥
(37 T“E:_ﬁ seconus (1) NH,CI
(4) T?I—Ia seconds @Nﬂ‘in
(3) (NH)),CO,
(# NHNO,
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175. Example for "Heating produces
change in the composition of

substances".

A& Ao Hon soated® st Ded
SO STNTUO.

(1) 2Mg+0, »>2MgO

(2) ZnCO, > Zn0+CO,

(3) 2KNO, —2KNO, +0,

@ All of these

176. Carbondioxide 1s used in fire
extinguishers, because ........

(1) carbondioxide is lighter than air.
carbondioxide is heavier than

air
(3) Carbondioxide 1s lighter than
any other gas

(4) Carbondioxide is abundant in
awr

(1) =558 &3HE mhNell STEIS
@525 ~2f mhzed wupsg ) -

(3) TYAET eFHE erairHeE D B0

(4) ™OE TGS B 6HE eI SSes”

177. Molecular formuld for éulphuris ...

Seyb Bk, e e,
O©F! XS,
(3) S, 2\{4) S

178. The _ bread attempts in
understanding the nature are
called ...
@hypﬂtheses

(2) inferences
(3) assumptions
(4) theories

WS-26/TET cum TRT-211-EM/TM

[ 179.

[35]

DO EONTHOID RO DOXAED cereneees
RSOy

(2) esdosstoss

(3) &uaives

'The rapid changes that took place
in the usage of cell phdnEs from its
iception’ 18 type of project.
(1) constriective

@TEEEﬂl’Ch_ . |

(3) proof

(4) vis ual -

28 B oS BT e Ttsed

180. The marking scheme does not
consists the following aspect.
(1) Answer for ecach question
(2) Marks allotted for each item
@ Content part of the question
taken
(4) Total marks allotted for each

question

Nesrs RANE” PolNsusts) weke.

(1) BOEHS ST

(2) 5O s Drtye Surcasobto
((3) 5% trpotion 1 Sigs gritkas

(4) SORHOTarcobnds SRty e
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181. On heating the following materials | 184, During refraction light follows the

maximum thermal expansion equation............; where n, and n, are

occursin ........ refractive indices of the first and

(1) iron rod (2) mercury )
second media.
(3) diesel ‘C‘t’)2 NN
= Tob sl e Sdau Shvee:
2B Soroped idicks oo ciem V/ 5
:'EES:"“-‘E'& Foo Dokhsh reenmeen ([0
(1) gastiomas: (2 Swmsam @) n, Sinr = n, Sini
(3) &2 @) co, n n,
g (2) T 5 A Y,
182. The Halley's comet appeared in Sin® 1 szr
1986. It will appear againin........... (3) n, Siﬂrf.'?_-ng,Sinr
£35S b i e, A . RO N,
1986 &* tndFrroy, 2wdsd. ed SOA @ & ! N ¥ B
O e N S CC - Siar.
‘? £ :
(1) 2042 e 186. -Weig'ht 0f a person 1s 50 kgs He
(3) 2060 () 2062 NS

leaps up and down in standirg
183. The direction ul‘r.umn:;un B |

.",'j‘ump. The force exerted on the
leld due to the current a ko NSRS j
: t A4/ eground will be ...

carrving conductor AB,

(1) equal to his weight

showu n figure. A

(1) Circular and anticlockwis¢/ )~ (2) less than his weight

(2) Straight line and antiélockwise @ more than his weight
‘( ircular and clnckgrsp (+) equal to his mass

(4) Straight line pod ﬂlm.kwme h

/S 50 3. ULy B3 23 Seld AL

L e 1.1.-:.5' o -'.‘-"" -, :-.?-. -. 4

T TR A Lo, LA D oid Bariel:
L e — i B LIy L =

. (VR '_'_"__‘""' LI5S e

T e 1_,._‘4_&5.' — X -

—h-'lp..t-f-i-i---r,——n o

i e ' {1} 'ﬁanr :;Uﬂifi;':ﬁrﬂl'}l*-

(2) eB0 oIS B0

7 s = S @ SHD BT DD

N o™ g g b Y )

s -—— - - o
i (4) B 55,0093 ISEsE0

o R L o Py
H"_-i“#m---: :-l-r-—.-_

-

%

- "
= - WL

' I'l \.--.rLil:.":.-."." i e ar— ——-
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PART-V (c)
BIOLOGICAL SCIENCE

186. Major change observed during | 189, The process of entering of pollutants

metaphaseis ............. ' in a food chain is known as ...........
(1) doubling of chromosomes (1) nutrification
(2) condensation of chromosomes (2) bioaccumulation
@ formation of equitorial plate @biumﬂ gnification
(4) appearence of cell wall (4) cutrophication
oGy 65" S0y00 PEFRIRNS By eI GRS ﬁ'umé‘é SoBsD
(1) E‘m‘é"mzﬁn:;;a;ﬁcw‘ SEOW veereens
(2) EarEkwes oot oo (1) 5rgedisd
B0 dertio Dtntse (2) e Mg
(4) Sramsue Dote ((3) sarioniss

187. The percentage of oxygen consumed
by the brain, out of the total oxygen | 1904 The total number of peripueral

consumed by the body is ............. neryes in manis ..............

135580 2APAcEe 5T Aode esdelSE’ QX Tkpyirs

o5t IDAPAE 57 ety TS ... QN paire

1) 2% @ 43 pairs

) 10% (4)51 pairs

(R 15% S SISt fah mrtie Besls $0Dg cae-s

gugs; ‘ PN [1} 12 oes

188. The bone bends but dovs not break @_; o
in children. This is usually called (4) 51 =5
as .......

: /191. The crushed waste from sugarcane
(1) impact fracture

rreen stick fractnre
@ E (1) molasses

(3) simple fractare
o @ bagasse
(4) comminuted fracture

siemsiscalled ..............

(-3 kelps

2ud” JeuFselttocs ) Juhss. & (4) all of these

i‘;ﬁﬁmqﬂ'ﬁamm ......... s T g e o

(1) S84 e Be Jhess 285D R e B
£ Dot DEy L an

3) Situste Fams, s = fhni:

(1) Dpolds Jhwse ST ij: i
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192. If you want to develop haploid

L

LT

3.

WS-26/TET cum TRT-211-EM/TM

plants through tissue culture, your
best choiceis ............,

(1) body cells

(2) germcells

@ pollen grains

(4) ovule

Dot Eese o RO DEHOY Jaok b
S daress woil, o ermisdAal;
TPOAD

------------

%

The principle of natural setting is

involved in the teaching methcd of

SCIENIE 1S vovnrenrnnnns

(1) lecture cum demon¢tration

method

(2) deductive method
(3) heuristic method

prnjunt methaod

SR TR S D0 gl &) L Ty
(1) &SPedsodaias (s 550
(@) s 555

194. A science teacher purchased some

195.

[38]

reagents and entered the
particulars in accession register
first. After that the particulars
register. '
@ consumable register

(2) nonbreakable register

(3) breakable register

(4) permanent register.

L8 Degid g At €7 OdlBouo
£, TS Do Sasediom % S96°
PO D, S DHOAID TR0 Bold

entered 1into

iiiiiiiii

llllllllll

(2) Sred Shspe o
(3) SAB Spe oEpts

14) waosipe tige

Self-reporting technique used to
evaluate the student's own feelings,
INterestsis.............

(1) aptitude test

(2) interview

(3) diagnostic test

(4) intelligence test

STIOT PRSI WRROR SPTRRle
D3 &R o TR Sgrve.
(1) e Svsog, 968
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196. One of the following technique was

developed by Panchanan
Maheswari.

@ln.viuu fertilization

(2) Gene therapy

(3) Green revolution

(4) Chemotherapy
Bod TIS° SoTRS Soid ednd
Sorse.
(1) 350s* e’
(2) S55%
(3) 1AS Obergss.
(4) R

197. The =cientific institute located ntL
Hyderabad carry out rcsearch on

the crops of tropical countries like

Indiais................. l
pcrerb Sofior usdite ool (8
Soued 30T o2neS :ﬁﬂ:g; ......

(1) CCMB

(2) NIO

(3) NIN

ICRISAT

198. The scavengers uf carth are

-----------

(1) algae

(4) all of these

S aan i 353 &ded
(1) Zoeren
(2) ™S

2boges
(4) 3o

199. 'Ascaris Lumbricoides' is-the
scientificnameof ...........
@mundwnrm
(2) itch mite
(3) hver fluke
(4) filanal worm

QL
(2) 3535

(3) Tsbyrs

(4) pEOcwE Ll

200. Identify the photoautotrophic
organisms.

(1) Funm

(2) Viruses

@ Cyanobacteria

(4) Mushrooms

oG RS cielisy dooi goted.
(1) 2bcpran

(2) e

(4) Puissites
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